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ECONOMICS

( Honours Elective )

Paper: ECO-HB-6026

(International Economics)

Pull Marks: 80

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

(a) What is international trade?

(b) What is inter^regional trade?
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( 2 )

(c) Write one assumption of Ricardian
theory of comparative cost.

(d) Mention one essential element of
Heckscher-Ohlin theory of inter

national trade.

(e) What is Leontief paradox?

1^ ?

(f) Define multinational enterprise.

(g} Mention one merit of free trade.

(h) What is protectionism?

'RSV'RPr 1% ?

(i) Define flexible exchange rate.

0) What is foreign exchange market?
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2. Answer the following questions : 2^5'=10

(a) Mention twd'difTerehces between inter

regional and international trade.

I

(b) Write two assumptions of Heckscher-

Ohlin theory of international trade.

(c) What is international product <ycle

theory?

^(isrsfK^ ^ ^ ?

(df Mention two causes for the downfall of

Bretton Woods system.

vBv^ ^'ITI

(e) What is financial globalization.

IV
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3. Answer any/our of the following questions :

5x4=20

(a) What are the reasons for international

trade? Explain.

"iiRerj^ 1% ? I

(b) Discuss the importance of Ricardian

theory of comparative cost in developing
countries.

R«PI'R ^

(c) Briefly explain the localization theory of
international trade.

<P<1I I

(d) Distinguish between free trade and

protection.

R«l^^ I

(e) Distinguish between fixed and flexible

exchange rate.

RR^nf Rp^it i
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(f) Distihguish between tariif barriers and

non-tariff barriers.

I

4. Answer any four of the following questions :
10x4=40

^55|4 2J*R4R4l^ C<PIW1 olRuh Rill :

(a) Explain the Ricardian comparative cost

theory of international trade. 10

(b) Discuss the superiority of Heckscher-

Ohlin theory over Ricardian theory of

international trade. Mention the

limitations of Heckscher-Ohlin theory.

5+5=10

<23^ «IIC«1I0*I1 W l

■  I

(c) State and explain the technological gap

model of international trade. 10

^iQiSfiR)4

<Pil "®ll^ RJT'IIT ̂ RT I
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(d) Critically discuss the product-cycle

theory of international trade. 10

(e) Compare the effectiveness of tariff

and quota as a weapon of trade

restrictions. 10

^

1^*fN*r ^*11 ̂ 1 1

(f) Analyze the effects of tariffs in a partial

equilibrium system. 10

W I

(g) How was equilibrium exchange rate

determined under gold standard?

Mention the reasons for the collapse of

the gold standard. 5->-5»10

WIRI ^

•»l^
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(h) Discuss the main reasons for the

international financial crisis. What are

the various effects of international

financial crisis? 5+5= 10

1^1^?

**★
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